SATPREP

Assignment: Quadratic inequalities

Solve each inequality.

1) (—x—S)(x+8)sO

3) (2x-1)(3x-5)=0

5) x* = 16x + 64 >0

7) -3x* =22x+16 <0

9) 9x* - 30x+25=<0

11) -8x* +27x-17>x*+3

13) -x*> +67=23

Name

Date

2) (~x-3)(x-5)>0

4) (x—3)(x+7)<0

6) —x*+3x+18=0

8) —3x*+5x-2=<0

10) x* - 14x+49>0

12) 11x* + 16x + 21 < 10x* + 6x

14) x* +x-44=12



Answers to Assignment: Quadratic inequalities

1) (-, -8JU[-5, ) 2) (-3,5) ( ] [ ) 4) (-7,3)
5) (~o0, 8)U(8, ) 6) [-3. ] 7 (o [ ,OO) ) (_w, g]u[l, )
9) {5} 10) (=0, 7)U(7, ) 1) (4 5) ’ 12) (_7,3_3)

3 33

13) [-8, 8] 14) (-0, =8]U[7, )





